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Section A {30 x 2 marks )

Choose the most suitabie answer and shade-the corresponding ovat in the

Optical Answer Sheet {OAS) provided.

1. Which one of the following is not a force?

(1) Mass

(2)  Friction
(&Y Gravity
(4 Weight

NS

The coconutis an excellant example of a water-disparsed frut.

Which of the following characteristics of the coconut fruit help it s syvive &
long journey on water?

The catonu’ friit is big and hght,
The coconut fruit has a waterproof skin.
The cocenut fruit nas a fibrous husk containing nurmerous alr space
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{1 Aonly
{2) Cony
(&) Aand C only
() B and C only




3. When a fares Is applied to a stationary object, suveral effects ara possibie.
Which: one of the foliowing effects is not possidle

{1} The ohiest moves
{2y Toe cbjes! relates.

e St
e

(3).  The ohject ramaing meovpd
{4)  Thamass of Ine objec! decreasss.

4. Dlants are adapted for sexeal reprodoction. Which ona of the Tollowing
featuies wilt pnisure tiat animals are attracted 1o the plants?

aads are uavally hard and tough,

y y haya hooks or hair-like structures.
are solouriul, scented anc r‘a,ouver» setar,
aavas are green and in abundanca.

5, Look st the drawing below. Which pan of the fiower develops into & tui?
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6. A boy lifted 2 10g mass vertically from a hbf« by means of a spring as
shown in tha diagram below. Then he measured the length of the spring
Different loads were used and the corresponding iengihs cf the spring were

measured.
hang
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The results were then plottad on a graph as shown below,

ength of zpring (emj

0.3 4

0.2 4

0.7

o 2w 1 aE 50
Weight (i)

Which one of the following does the point v ’1 xed X oon the graph show?
(1) The length of the sprino when tha 10g mess was

(Z)  Theincrease in the le ngtr of the spning whan rhs '
on the spring. :

(3)  The length of Uhe spring when the 10g mass was remavad from ihe
spring and nott umg wa p zoad on the sprng.
(8)  The decrease in the length of the sping wheo the 109 mass was

removed from the sprng.
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A ndusewifa rows a1 the follawing plants in her ; rde;m

Banana
African vipie
Bean nlant

Peapple Gin ger Dm,, ]
Begonia Bryophyllum  Potaie |
Hiciscus Roses Tapioen }
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She wants to grow soma plants from leaves.
Which plarmis shodld sna choose?
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9. As the Moon orbits the Earth. we can see that the size of its lighted pan

w]

changes. We have a new moon whean tiis M-on is at Positon
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1) Position 1
(2) . Position 2
(3) Position 3
() Position 4

10. A student finds some lbaves of old breadd that imw aeen left in & baskel. The
loaves of bread ; "c‘\"” z turry growth on therm with many little dlack staticnzn
dots like pin heads sticking up abiove the fuiry growth.

ANhat do you think are on the bread?
\ Ferns and tha litt'e hiack dots are the roois o forms.
J Fungi and the littie black dois are the spore begs contaning spores,

) Aosses and the lithe black dots are young mosses aboutto arow.

V Bean plants and the litile black dots are the seac coats of ths sesd 1saves.
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¢ below show the comparicon hatween a field | rabitat and a
Mrich ene of them is incorrect?
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1y Airin the fieig and iree habitat moves fraaly.
2y The feld ‘ai is exposed to light whils the tree habitatis & 1adv
i3} Thalresh t* at experiences more tempsrature changes than th ﬂek

\ 13
{ \::Lt“.za'-...

{4} Both the field and tree habitats get peiodic brighiness-and darkness. -

O
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A gardanar i giowing some carrots, How do carrats raarcdnce?

(1) C erots reproduce from suckers.

(2 a O FBL0] iuce from underground “oois.
N azat! e;c%j ice from underground stems.

(4 Cu“ eproduce from leaves.

18, Lodie aaried oul an experiment using tha thres pulley systems shown balo
For each 'w’l*v svstam. he applied a foree over differert distances to lift a
sirular oad.

Fuiley Svstem A o Pulley System B Pul?@y “\,ﬂ\*tem &

i /(M:»; R W77 7z ez B é/ 2t

4 e e
| a Ll
Fr =8 frmen ¥
Load ;.‘-’xid
| 1 . B S S
g - K . . \=EEA AN -
[ Distance moved by the load - Ristance moved LX hg effort
1 ' nam 1.0m
A0 o T 20m
; 30 m G m

ey A B N T I R wes o +
Which puilay sysiams can give rise o !

(N Aoph (2} Aand B only
2y Pand Sonly (4 A, Band C
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14, Two construciion workers were using atixad po.ey to lowsr a buckei of
cement. If the bucket of cament was lowerod by a distancs of & m, tha
approximate dtstame moved by the effort was

=\

(y 18m
2y 2 m
3) B m
4) 4 m

John notices that the:Sun seems to move gradually across the sky as day
changes to night. Why is this so7

1) The Sun revolves round the Earth,
(2)  The Earth ravelves round the Ser.
(3} The Sun moves | rom gast (0 west ac:0s5 ihe sky.
[4)  The Earth rotates azout its axis from west 1a east

16, Which one of the fellowing s not in the Solay Syatemn

My Sun

() Earth
(3) Moon
(¢)  Stars




17. Tha graph pelow shuws the population of mosgultoes agains stiime, in
aho mcrm ostate.
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Chooss the main fector yesponsible for the davrease of the mosguite

pepuiation,

(1) Tro resivents spray insecticide.

{2, Treresicenis use Insect repellent creai (o keep the mosqu;to\,s
BWAY.

(&) Theresiianie make sure that there is po stagnant waternin thair
heuses and surroundings.

{4y Same of “w rosidents move'away and sb there is insuificient food for
the mosquitoes to feed on.

18,

W“m of e oliowing screwdiiver(s) will \f’*!!" tely requira(s) less efforito
drive a seraw into a piece of wood than screwdn ver A7 :
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19. Peter bought home a toy car from the neighbocrhood shop, He pléc:ed' 3
magnet against a slab of iron. He aiso piaced the toy car at some distancs
away from the magnet and the iron. He noticed that the car did not move.

" What could be the possible reason(s) for this os.s:m\'zmo_rl‘j

I‘.;;“._.,,,,A P

oy car

e

(A)  The magnet is not powerful enough.
(B)  Thetoy caris made of stazi.
(C)  The slab of iron is too thick

Aonly.

B oniv.
Aand B
Aand C.
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20. Many plants will die if the tomperaturs of thelr surroundings drons o
0>C. Howe\,er‘, somg conifer trees can suvive freezing tempeaiures.
How are they able {o do s07?
(1) Theirtrunks are very hardy.
(2)  They have neadie-like leaves.
(3) They are tail trees.
() lce do not form in their piant cells.
21. Ateacher iold her ciass that a fixed pullev does oot recuse the offon usad W

it a load 'cJ it makas werk easier, L.;y is this 207

Y The givectian of thae effort is changea,

(1
(2 The effort moves the same distance as the bad.

(3 There is no air registance when the icad s ‘ﬂO‘dET‘!Q R,

(#)  Only some exira efiort is needad to overceme friction at tha pufley.
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22, ltakes mauj e Dlants to proy ﬁo Tood for a single dee
qmssimnpe' Foweves it can acuially be an ed\xv age t
daar v ng N e same swrounc’mas Why iz this sa?

L

rthan for a single
pian te to have

{1 Thay ucuaw lve as group and S10) 'Ehe number of plants eaten by a
groue of geer is yery iarge, ' . )
2y 1hey prefar to eat seedlings rather than. older plants and this r@dx:c*es ,

pvercrowding, \

- They halp i [cozen the solf when they upis ‘Ot the plants as they

. giaze

{4\ They wata largs amoant of plantq and this can lead ¢ ove*mra 7Ing. .
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23. Which one ~f the foilowing statements about water is false?

(" P ;artc g Aot need water to carry out phatosynthesis.

(23 Plant toots oan only absorb minerals from the soil if they are dissoived
in wates. '

(3)  Water forms the madium of trans port n raany organisms.

(4% Water s a sasic necessity of ife.

24, The arqq*'**m show g dlock of wood resting on z glass surfabe.
Two equal forces (57 act op the wood. I whict dragram wiil the wood
definitely move?
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ﬂd ulass surface

(@) o ()




Study the following flow chart carefuily.
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Which set of exit points correctly matched each of tha givan animais in the
table below?
| Chick Backswimmar | Seetie larva | Aynah
(1 o A C | B
() D B A " C
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26. A boxis aliowatd to move down an inglined plane across four differant .
surfaces as shiown 5 the diagram below, '
The faur different types of surfaces ara woud, cement, glass ar r‘p,t’t

Arinclined
plane

o

5

SRIE SRV 7N

Tha reguity ave plattad orthe graph below. The diines A, 8, C and D represant
the 4 diferert typos of surfaces
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27.

28.

- The diagram represents a p
mammal,
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Name: ‘ R ) = A

) 4
Class: Primary 6 Li

Section B (40 marks)

Write your answers to questions 31 - 48,

31, The diagrams below show the Rose of Incia fiuit and the Paacock tr ee
fruit. Both fruits split open when ripe (o disperse ther sesds.
Rose of India fruit Peacoex Tree frut -

wing-like ssed

{(b) Explain your answer to (&} {

32.- A farme. ploughs a ‘nerd and uproots all the wads grawing in T.'he fleid.
v
{a) v“vlnd\hwnpen to the wsads? (1m)

Ju— A PRI . [ v

b)Y Give a reason ior your answer i (3% {1m}

e e et b —_—
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The Venn dlagras

T balow sh owd four types of i

mashines.
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34, Warm-binngad &
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nimals cuch as dogs and cats can suvivas fow
as frogs and toads.

i
N3

it not 2oid-blooded animals sueh
iation'in the surrounding temperature affects cold-bloodec

Vilhv'is thiz so? ( 1m)

\




Sam puts Some iron naa!s each into a glass Ja: of ol zmd a sieel jar ol oil.

A few days latér, he wanied to take out some rails §
dipping his hands into the oii.

m both tha i fars without

Glass jar ' T Stegljar

() Explain how ha could take some nails from the glass jar of o}

without making contact with the nails?{ im )

(b)  Was he able to do the s ma 1o the qtv.eu rofold? {im )

()  Explain your answar in (b). {1 m)

—
~2




36. The diagram Delow shows a pairof scissors and a spade.
{abt the fulerum for these fwo simple machines. ¢ im

A palr 61 80880 . A ¢nade

By How am thase wo »[fno!e machines different in terms of the positien

of the =fort and baa? { Im)

[ERVERE

37, The diagram below shows the fernale parts of a flower.

far process known 887 (1 m)

— .\1;_1'1'\-““ another flower hae ‘amjﬁ, onto part A

o Al <
VW 300V Ea,
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38. A pupil uses a spring. He hangs a 20g mass and & 30q mass on'the
spring and the corresponding extensions are shiown in the diagram melﬁw,
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{a) - ecord the extensions of tha spring in ths foliowing tabla. (2 m)

(b Wnte down the ]ml/ extension of the spring when & 40 rmass s hung
on it (1.1m)
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39.

Afihas 4 riiet a! trars, A 5 (‘ ancJD Two of the” “e)a: bars are \"Ieﬁn"vh

magnete-at one s miRde o a non-ma anetig’ mﬂmzﬂl

A . {c—'w---—-.:—_h e ___'.:7.:':;2:
2 PREE -

{ B
L {-’-" e — 0

b —
2 it o

& Ws hov% us\ar* m‘nnr *vmtgﬁa }Wna’t must ha do to confire and jnentiy
wh'C‘(T*wo ot the matal Bar s are n;aqr*ets whlrh one is ;ﬂade of a nen-

- magnate matenal? (3 m)

Step -3 —— ~ -
Sepr o -
Step 3 — )

Mary and idartha were discussing the teim “Environment’ “during a Seience
lesson. Mary definad environment as a place: consisting of ajl \hefliﬁ-g\i hat

could affect the growth, development and survival of org Jm.mg fiving in it
List all the factors below: (3 m) :

(a);

e =

N —— e on

{d}

—— o
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4,

(@)
(b)
©)

42>

“On a work fable are a nutcracker, a pair of pliers and a pair of tweezers,

'''''' ——

. < . . b N , T ————— S : N - M
Ahousewife is asked 1o classify the tools according (o the classfication taple
shown below, : :

Where should each of the tools be best placed? { 3m)

| Simple Machines J
e,

i
1
I
|
1

_[ . e a
( _ | E

The fulcrum . © Theinadisin " The efortis
1S in the the middie of applied in tne

.. middle. the machine. riddie of the

| | '
| | f
]_A ; % :BE | ﬁ~

: i !

>

&

%
|

A student puls 4 seeds on some moist cotton wool. Some days later, they

start to sprout into seedlings and he continues 1o walar tham eveary din

Soon he observes that the seediings will not grow info adalt plants that
will bear flowers and iiuits. Why Is thai so? { 2in '
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43 The i:m e talow shows some xmorm:ﬁron ”\“bl-* tne planets in the Satar Systam,

Planet . | Mercury Lienes+Earth’l Mars | Jupiter | Saturn | Uranus | Neptune | Piuto |
' Distance 1‘

4497

A

2870

- ¥
&
ik
S
2]
~
"
-t
Y
NI

H
L Gun

E
j 3
. from the a8
H
%
{mititon !

km) ' o

!

,’ _] !rﬂ_é- i et 4..._-_,._\._\4_~\._N:,,..._§ - - - ‘I - ; I
itakento | BR- | 205 | 385 | 887 | 42 29 84- i 185 |
make days | sais | days | days | vesre | vears | years | vyears |
' ¢ ! : i |

QRE~ .' ; i_
| revolution | f : !
arolma | : ]
|the Sue. L] : L ~ ?

(@)  Which is the hotast planet in the Solay System? (V4 i)

——— « a— e - . SO,

(b}  Basse onthe inforrmation given in the table above, expiain your 2nswer

Lo 7. X :
{c VI Saliy iz 25 vears old J how many Himas ha’% the nianet Jupitsr
ravoiverd ground the SL n since tha day sha was bom > (V2 m)




44, The diagram below shbwé a seed that is germmating, (3 m)

—= Seed feaves

Seed cool —-

Py e
H !:,; == 5irst root

Fora seed to.start to develop inte a young plant, it must have

e andthe ngnt _ . Vnepthoss

conditions are suitable, ¢ he seed wil qs:m:rmte

45, John planted four identical chilli planis in four pote af the seme size under
the following conditions:

Pot | TypeofSoil - | Place where the Eﬁtb were piaced |
Sandy sail ) in the shade ;
Sandy soll I the sun i

~ Garden soil ___.__Inthe shade B

u,del" it i t“-‘\UH |

_— PR - - - e

g0 |m| 2
J

— .

He gave the plants the same amount of waler and watchad how well gach
grew. Then he repeated the experintent threg {imas.

(a)  Wny must John repeat the expenmsnt ihiee thines? (Im)

(b)  What do you think he could tell about the planis from hig experdmeant?

e ar—— v j—
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The diagrams De\ow show a -;4aw-h'r:rrrm~ref and a wheelbarrow,

Compare the charasteristios of these simple machines and fill in the
blanks i the graphic organizer given. (3 )
g \

I

i b
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Yild . .
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How are they similar”

{a) dothave ____ thattum about a fixed point calied the

<

Sy Sy g
FLTTLI.

How are they different?

(b1 Fovthe pay o”‘mqq the _ is between the fulcrum 2nd-

————

the ,\mexe;:sfor*na wheesibharrow, the

vicrum and the

et

End - of « Papar
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1) 28) 3

2) & 26) 1

35 A 30) 3

2 ~ < r
4) 3 21) a) Rose of India fruic,
S 2 1 ~ - PN \ . u
5) 3 h) Its wing~like seed is light s
y 4 carried by wind.
5) 1 .
32) a) They wilt.
7)) 2 -
b) Uprooted plants csanv: take ia nutrienits or
8) 4 water and so¢ they wile,

9) 3 33) G
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Yo

Yarm~blooded asunimels can generate runternal heat
but cold-tiocoded aninmals cannotv,

35) a) He could usa & magnet and slide it over the
12) 2 © bottom of the jer and the iren rails could
, then slide bhogether with the ragnet.upwWards
13 3 on the slide of the jar uwntil =he wails
' reached the ovpening of the Javr and wersa

withia reach.

b)Y Vo

)x-‘l
N
~
6}

15) 4

16) & -

g
1]
e
; [
A
R
I

. R s “ -
cel JAar preveunted ths megnetic force
.
;

17) 3 0 1) a) §:> AN
18) 1 \ : '

b)

~o
—
~
-

79Y 9
12) 2 37) A
44 1 -
A B ovyies
")4 Vi
' o
) C avary

38) 10 cm

]
~!
e
L3
—
(92
0
3

N\
’_\,
]
4



: Takz 2 m2ral bare abt s time to tesc the fovee of
stirachion-and vepulsion,

|93
K]
s

Step

Srerp ; The rwo havs that

Z ‘he ba v each other
are te.

can:
the . coniirmed. magne

g aeizl bar ‘that canntt be attvacted to the
coufirned magnets-1s noel-magnetic.

(e
s}

]
s

o3

La

’ : ,{\

B~
[
'
o
~
>
<

o

vailatddiey of food.
T IR EW N
Temperatuyre

Amount of warer

b

mber of prevy and pradatoers.

g) Awnunt of sunlight
Y

£Y Tyoe »f
41) o) piiets b) notceracker . c) a pair of nweerers

ek
oy
o |
513
)

© ot

Ing

~a

-
oo
rf)
v
[{¥]

[

cannet grow into aduit pl
rants from tha s t
~

have been used up.

%
Sl
v}
ft
e}
]
O]
2]
-

<3

Y
(4
!

X
4]

o

e
[
1
mo
<

m

i3

(o

N

-1
o
D

Aa) Cxygpes Waser temperature

45) a) To make sure it is accurate,

5) By conpaving rhe plants, he zould f£iad out whethey
> rla grew better in tha sun oy in the shade
P 551l which woulae sfi=ct the growth of the

L)

v
~~
-t
4l
<
1]
-t
14

,_
&)
om
Qs
[
9}
i
(%)




